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=4 45.81 — | 1,017,841 | Fh w5 MWy 51.3] 18 1,203
F E B d4. 4| 67 148,924 { K ¢ Hy 57.6| 6 2,701
& + ™ 48.2] 37 17,915 § /)y B I HY 4761 41 5, 269
m o)l Th 46.7} 48 81,054 | 1h HH HT 5501 ¢ 2,164
it B 44.1] 68 94,341 | 58 R HY 57.9] 4 1,314
g8 b T 47.1| 45 11,246 | & & W 55.11 8 4,157
AKEET 46.5| 52 23,202 |+ & HY 5791 4 2,162
A =] 4.7 66 81,457 | B FE HT 50.0 27 3,715
L ] 44,9 63 20,676 {8 L HT 53.81 10 2,413
= B’ 49.11 30 10,264 | 8% ¥ HY 52.51 13 2,535
B OR T 48.11 39 16, 606 | 5% iy 50.3| 25 2,571
R B W 46.8 | 41 15,675 | BF ¢ HT 51,0 20 2,118
g W .7 16 24,555 | A ey 43.8| T 6,042
H & @ 47.6 | 41 8,795 | FuHJLEHT 47.4| 43 3,889
J\HT3SH 5.1 19 7,073 | B% 3 HT 50.40 24 4,562
3} [l 52.8| 12 8,796 | 1L E M 47.1| 45 2, 545
HEEH 43.50 10 26,280 | & 8 K 48.4 32 936
il il 42.1] 75 51,564 | #3% B2 HT 52.2| 15 2,429
B @ W 45.71 &7 L9 (K = W 50.6 | 22 3,071
m R T 43.9| 69 43,895 | Z Ly HT 59.3| 3 2,043
b L ] 40.8| 79 23,29 — B Hr 50.3 | 25 2, 447
ANF R 44.8 ] 64 27,015 | i R HT 49.31 29 1,663
BT H 41.3] 18 20,341 & H 47,4 48 2,266
e ot 51.71 17 LU F T 48.41 32 2,530
;- SN 45.11 61 17,395 | & 4% HT 44.81 64 1,528
B W 45.71 57 16,400 | & i HT 46,4 54 2,247
E B 48.41 32 11,182 | K& & Hy 45.2 60 2,578
WKW 45.6 1 59 19,928 | 58 F& HT 46.7| 48 1,635
WG E W 42.6 13 12,690 | 591 75 Hy 42.5] T4 1,527
Moo 46.7] 48 | 9,647 | A B HT 48,2 37 4,428
JANE i ] 50.5] 23 9,954 | W i) 46.71 48 2,863
B§ 1@ Wr 46.5 52 5382 | & 7@ T 48.31 35 1, 352
B o T 45.11 61 7,276 | & i HT 49.11 30 1, 445
7 A& HHT 43.1| 72 3,311 |4 /& My 47.8 1 40 2,458
E H 48.3 | 35 T84 1= F #t 52.2 | 15 1,071
H B 46.0 | 56 1,606 | °H #& HT 60.3] 2 1,923
B H I 46.4 | 54 6,706 | F & Hr 52,41 14 3,352
HI 7 M 4161 77 6,425 | FL 1L HT 60.4] 1 1,541
A B K 5100 20 991 |0 H T 57.21 1 1,594
* Hr 38.71 80 3, 345 | KHEUNEHT 53.1( 11 2,012
T % Hf 49.6 | 28 1,534
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